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1. RO OE-E R ZKD K.

(1) flz,y) =a® = 3ay +y°
(2) f(z,y,2) = 2> +y* + 2> + 8wy + 62y — 20 — 2y + 2z
2. AP iEfE (hfE) %K K.

(1) flz,y) =2"+y° =92y + 1 (2) fla,y) = 2° + 3ay® — bay
3) f(z,y,2) =2+’ + 22 +ay—yz—zx+ax+y—22+1
(4) f(z,y) =2 +32y* —y* =3z (5) f(z,y) = 22" — 227 + y* + 22%y
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1. EEAHE D R AT 2 KD & £ 72 KIBGERATR & 2 & 13k &

(1) s/ME f(r,y) =22 - 3y (2) wME f(ry) =2 +¢°
wWo# glay) =224y —1=0 o # glry) =2+ —1=0
(3) BuvME  f(r,y,2)=x+y+z
fil ¥ g(ry,2)=2>+y*—4=0
g2,y 2)=c—-y+2z2=0
2. x,y MEMRZFLETEHEFRE 1 OMHEEDORTH S L &, 222 — 62y + 2y? DFHR/IME L ik
KiEZ KD K.

3. UTNOE/MUMEOB/IMEZ KD K. 7272 UL OMEIZ T R THR/NMEZ D,

(1) B/AME fla,y) = 22 + oy + y? ) &/ME f(x,y) =2y
fil M gla,y) =22+ -1<0 fil# o glry) =22+ —-1<0

4. AP O R/IMEMED KKT Sffz ko & (RIERkD < TIW) .

B/ME 2 —y+22
fil M 2P+ +2:2-1<0
20 +2y+2—1=0
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(1) BME  —8a; — 6 2) BME
il T+ 19 < 4 &l %
31 + 29 <6
T1,2T9 >0
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1. 2 HEDEHEBEEZ KD &

(1) &/NME F(y) ::/O {22y(z) + v/ (2)*} dx
WK y(0) =1 y(1) =0

o) EME P = /0 (—2e"y(z) + ¢/ (2)?} do

fil % y(0)=0, y(1)=0
(3) mMb F(y) :/0 (1+ 2y (z)* dx
fil ® y(0)=1, y(1)=0

2. RO D & 250 M D58 Bz K K.

(1) m/Mb

1
fil o Gy) ::/ y(x)dx =
0

1
(2) m/ME  F(y) ::/ y' (z)? da
01
fil N Gly) ::/ zy' (z)de =5
0
)=1

(3). &M
il # Gy) ::/ y'(z) SiHSL’dLL’Igﬂ'2

y(0) = 7/2, y(n/2) = /2

—3x1 — 229 — 4uas
1+ X9+ 203 < 4
214 4+ 223 <5
201 + x9 + 323 <7
T1,To, 23 > 0



